SIGNATURE PAGE

RFQ# F-30-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Allied Fire & Safety Equipment Co., Inc.
	(PRINT)
Preparer's Name:	Frank Pinto
	(PRINT)
Signature:	November 10, 2022
	(DATE)
Address:	517 Green Grove Road
	Neptune, NJ 07754
Telephone No.:	732-922-3399
Fax No.:	732-918-8668
E-Mail Address:	frankp@alliedfiresafety.com
	(This should be the email where Contracts would be sent)
Contact Person:	Frank Pinto
FEIN:	
(Federal Employee ID)	

RFB must be received no later than:

REQUEST FOR BID

---- This Is Not An Order -----



November 10, 2022 10:30AM

RFB# F-30-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

Deliv	very Date:	1/1/2023-12/31/2	024	Y	
ITEM		DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
ANN	UAL INSPECTI	ON, TESTING AND SERVICE			
1	SPECIAL SE 300 HALLS I FREEHOLD,		2 INSPECT	\$285.00	\$570.00
	THREE (3) V	VET SPRINKLER SYSTEMS			
2		RKS BUILDING A TER STREET .D, NJ	2 INSPECT		
,		T SPRINKLER SYSTEM CKFLOW PREVENTERS		\$150.00	\$300.00
	CONTRACT	SPACE PERMIT REQUIRED OR IS RESPONSIBLE FOR EQUIPMENT Y TO COMPLETE WORK			
3	PUBLIC WO 250 CENTER FREEHOLD,		, 2 INSPECT	\$375.00	\$750.00
		T SPRINKLER SYSTEM Y SPRINKLER SYSTEMS			
4	PUBLIC WO 250 CENTER FREEHOLD,		2 INSPECT	\$125.00	\$250.00
		T SPRINKLER SYSTEM CKFLOW PREVENTER 4"			

REQUEST FOR BID

---- This Is Not An Order



RFB# F-30-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

UBLIC WORKS BUILDING D 50 CENTER STREET REEHOLD, NJ ONE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS	2 INSPECT	\$150.00	\$300.00
	•	ຈາວບ.ບບ	1 5.5000 000
VVO (2) DAONI LOVY FILL VENTENS			4000.00
PUBLIC WORKS BUILDING G 250 CENTER STREET FREEHOLD, NJ	2 INSPECT		
NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS		\$150.00	\$300.00
CONFINED SPACE PERMIT REQUIRED CONTRACTOR IS RESPONSIBLE FOR EQUIPMENT IECESSARY TO COMPLETE WORK			
IEALTH DEPARTMENT 50 E. MAIN STREET FREEHOLD, NJ	2 INSPECT	. ,	
ONE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS	•	\$175.00	\$350.00
CONFINED SPACE PERMIT REQUIRED CONTRACTOR IS RESPONSIBLE FOR EQUIPMENT RECESSARY TO COMPLETE WORK			
DULT SHELTER 1005 MURPHY DR. FORT MONMOUTH OCEANPORT, NJ	2 INSPECT		
ONE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS		\$175.00	\$350.00
CONFINED SPACE PERMIT REQUIRED CONTRACTOR IS RESPONSIBLE FOR EQUIPMENT IECESSARY TO COMPLETE WORK			
	NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT ECESSARY TO COMPLETE WORK EALTH DEPARTMENT 50 E. MAIN STREET FREEHOLD, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT ECESSARY TO COMPLETE WORK DULT SHELTER 1005 MURPHY DR. FORT MONMOUTH OCEANPORT, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT	REEHOLD, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT ECESSARY TO COMPLETE WORK EALTH DEPARTMENT 50 E. MAIN STREET FREEHOLD, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT ECESSARY TO COMPLETE WORK DULT SHELTER 1005 MURPHY DR. FORT MONMOUTH OCEANPORT, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT OCEANPORT, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT	FREEHOLD, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT ECESSARY TO COMPLETE WORK EALTH DEPARTMENT 50 E. MAIN STREET FREEHOLD, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT ECESSARY TO COMPLETE WORK DULT SHELTER 1005 MURPHY DR. FORT MONMOUTH OCEANPORT, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS \$175.00 \$175.00 \$175.00 \$175.00 NOFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT OCEANPORT, NJ NE (1) WET SPRINKLER SYSTEM WO (2) BACKFLOW PREVENTERS ONFINED SPACE PERMIT REQUIRED ONTRACTOR IS RESPONSIBLE FOR EQUIPMENT

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-30-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	PUBLIC SAFETY BUILDING 2500 KOZLOSKI RD FREEHOLD, NJ	2 INSPECT		
	ONE (1) FIRE PUMP TWO (2) WET SPRINKLER SYSTEMS ONE (1) DRY SPRINKLER SYSTEM TWO (2) PRE-ACTION SYSTEM TWO (2) BACKFLOW PREVENTERS		\$875.00	\$1,750.00
10	POLICE ACADEMY 2000 KOZLOSKI ROAD FREEHOLD, NJ	2 INSPECT	\$125.00	\$250.00
	ONE (1) WET SPRINKLER SYSTEM			•
11	HUMAN SERVICE BUILDING 3000 KOZLOSKI ROAD FREEHOLD, NJ	2 INSPECT	\$1,300.00	\$2,600.00
	SIX (6) WET STANDPIPE - (NO HOSES) FORTY-SIX (46) HOSE VALVES			
12	COUNTY CLERK BUILDING 30 MECHANIC STREET FREEHOLD, NJ	2 INSPECT	\$275.00	\$550.00
	ONE (1) WET SPRINKLER SYSTEM ONE (1) DRY SPRINKLER SYSTEM ONE (1) BACKFLOW PREVENTER 4"	·	,	
13	PROBATION BUILDING 33 MECHANIC STREET FREEHOLD, NJ	2 INSPECT	\$275.00	\$550.00
	ONE (1) WET SPRINKLER SYSTEM ONE (1) DRY SPRINKLER SYSTEM ONE (1) BACKFLOW PREVENTER 4"			
		,		
		1		ì

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-30-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

 DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
HALL OF RECORDS ANNEX 1 E. MAIN STREET FREEHOLD, NJ ONE (1) DRY SPRINKLER SYSTEM FOUR (4) SECTIONALS	2 INSPECT	\$750.00	\$1,500.00
NOTE: TEST AND INSPECTION CAN ONLY BE PERFORMED ON THE WEEKEND. VENDOR MUST QUOTE A WEEKEND RATE			
HALL OF RECORDS 1 E. MAIN STREET FREEHOLD, NJ	2 INSPECT		
ONE (1) FIRE PUMP (FLOW TEST ON WEEKEND ONLY) TWO (2) WET SPRINKLER SYSTEMS THREE (3) SECTIONALS SIX (6) HOSE VALVES ONE (1) WET STANDPIPE WITH SIX (6) FIRE HOSE STATIONS (NO HOSES)		\$1,150.00	\$2,300.00
NOTE: TEST AND INSPECTION CAN ONLY BE PERFORMED ON THE WEEKEND. VENDOR MUST QUOTE A WEEKEND RATE			
COURTHOUSE 71 MONUMENT PARK FREEHOLD, NJ	2 INSPECT		
ONE (1) FIRE PUMP SEVEN (7) WET SPRINKLER SYSTEM FOUR (4) STANDPIPES THIRTY-SIX (36) HOSE VALVES	,	\$2,725.00	\$5,500.00
NOTE: TEST AND INSPECTION CAN ONLY BE PERFORMED ON THE WEEKEND. VENDOR MUST QUOTE A WEEKEND RATE			

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
17	LIBRARY HEADQUARTERS 125 SYMMES ROAD MANALAPAN, NJ	2 INSPECT		
	FIVE (5) WET SPRINKLER SYSTEMS ONE (1) DRY SPRINKLER SYSTEM ONE (1) FIRE PUMP FIVE (5) SECTIONALS THIRTEEN (13) HOSE VALVES		\$1,275.00	\$2,550.00
18	MCPO 132 JERSEYVILLE AVENUE FREEHOLD, NJ	2 INSPECT		
	ONE (1) FIRE PUMP TWO (2) PRE-ACTION SYSTEMS ONE (1) WET SPRINKLER SYSTEM FOUR (4) SECTIONALS TWO (2) STANDPIPES TWO (2) BACKFLOW PREVENTERS		\$1,100.00	\$2,200.00
19	AG BUILDING 4000 KOZLOSKI ROAD FREEHOLD, NJ	2 INSPECT	\$125.00	\$250.00
	ONE (1) WET SPRINKLER SYSTEM ONE (1) BACK FLOW PREVENTER			
20	EASTERN BRANCH LIBRARY 1001 HIGHWAY 35 SHREWSBURY, NJ	2 INSPECT	\$150.00	\$300.00
	ONE (1) WETSPRINKLER SYSTEM TWO (2) BACKFLOW PREVENTERS			
21	STARS BUILDING 119 DUTCH LANE ROAD FREEHOLD, NJ	2 INSPECT		
	ONE (1) WET SPRINKLER SYSTEM FIVE (5) SECTIONALS		\$450.00	\$900.00
	NOT: CONFINED SPACE PERMIT REQUIRED CONTRACTOR IS RESPONSIBLE FOR EQUIPMENT AND PERSONNEL NECESSARY TO COMPLETE WORK.			

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
22	CORRECTIONAL INSTITUTION 1 WATERWORKS ROAD FREEHOLD, NJ	2 INSPECT		
	ONE (1) FIRE PUMP TEN (10) WET SPRINKLER SYSTEMS ONE (1) DRY SPRINKLER SYSTEM FIFTEEN (15) STANDPIPE SYSTEMS THIRTY-FIVE (35) SECTIONALS THIRTY-SIX (36) HOSE VALVES		\$5,650.00	\$11,300.00
23	FIRE ACADEMY 1027 HIGHWAY 33 EAST FREEHOLD, NJ	2 INSPECT	\$475.00	\$950.00
	ONE (1) 4" WET RISER ONE (1) 300 GPM HORIZONTAL DIESEL FIRE PUMP			
24	SHORE COMMUNICATIONS 1825 CORLIES AVENUE NEPTUNE, NJ	2 INSPECT	\$125.00	\$250.00
٠	ONE (1) 2-1/2 WET SHOTGUN LIMITED AREA	,		
25	CHILD ADVOCACY CENTER 500 KOZLOSKI ROAD FREEHOLD, NJ ONE (1) 4" WET PIPE SPRINKLER ONE (1) BACKFLOW PREVENTER	2 INSPECT	\$150.00	\$300.00
26	HIGHWAY DISTRICT #6 FORT MONMOUTH 100 BARTON AVE. EATONTOWN, NJ	2 INSPECT	\$150.00	\$300.00
	ONE (1) DRY SPRINKLER SYSTEM			
27	SEA VIEW SQUARE COMPLEX 2407 RTE #66 OCEAN TOWNSHIP, NJ	2 INSPECT	\$425.00	\$850.00
	THREE (3) WET SPRINKLER SYSTEMS TWO (2) SECTIONALS	٠.		

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
28	RECLAMATION CENTER HAZMAT BUILDING 6000 ASBURY AVE.	2 INSPECT		
	TINTON FALLS, NJ		\$250.00	\$500.00
	ONE (1) DRY SPRINKLER SYSTEM ONE (1) WET SPRINKLER SYSTEM			
QUAR	TERLY INSPECTION, TESTING AND SERVICE			
29	PUBLIC SAFETY BUILDING 2500 KOZLOSKI RD FREEHOLD, NJ	8 INSPECT	\$150.00	\$1,200.00
	TWO (2) PRE-ACTION SYSTEM	<u> </u>		
30	HUMAN SERVICE BUILDING 3000 KOZLOSKI ROAD FREEHOLD, NJ	8 INSPECT	4500.00	0.400.00
<u> </u>	SIX (6) WET STANDPIPE - (NO HOSES) FORTY-SIX (46) HOSE VALVES		\$520.00	\$4,160.00
31	MCPO 132 JERSEYVILLE AVENUE	8 INSPECT		
	FREEHOLD, NJ TWO (2) PRE-ACTION SYSTEMS		\$150.00	\$1,200.00
HRE	E YEAR INSPECTION, TESTING AND SERVICE	217 2	×	
32	PUBLIC WORKS BUILDING B 250 CENTER STREET	1 INSPECT		
	FREEHOLD, NJ		\$300.00	\$300.00
	TWO (2) DRY SPRINKLER SYSTEMS			
33	PUBLIC SAFETY BUILDING 2500 KOZLOSKI RD FREEHOLD, NJ ONE (1) DRY SPRINKLER SYSTEM	1 INSPECT	\$300.00	\$300.00
34	COUNTY CLERK BUILDING 30 MECHANIC STREET FREEHOLD, NJ	1 INSPECT	\$250.00	\$250.00
	ONE (1) DRY SPRINKLER SYSTEM			1

REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
35	HALL OF RECORDS ANNEX 1 E. MAIN STREET FREEHOLD, NJ	1 INSPECT		
	ONE (1) DRY SPRINKLER SYSTEM		\$440.00	\$440.00
	NOTE: TEST AND INSPECTION CAN ONLY BE PERFORMED ON THE WEEKEND. VENDOR MUST QUOTE A WEEKEND RATE			
36	LIBRARY HEADQUARTERS 125 SYMMES ROAD MANALAPAN, NJ	1 INSPECT	\$250.00	\$250.00
	ONE (1) DRY SPRINKLER SYSTEM			
37	CORRECTIONAL INSTITUTION 1 WATERWORKS ROAD FREEHOLD, NJ	1 INSPECT	\$250.00	\$250.00
	ONE (1) DRY SPRINKLER SYSTEM			
38	HIGHWAY DISTRICT #6 FORT MONMOUTH 100 BARTON AVE. EATONTOWN, NJ	1 INSPECT	\$250.00	\$250.00
	ONE (1) DRY SPRINKLER SYSTEM			
FIVÉ \	YEAR INSPECTION, TESTING AND SERVICE			en lande en kommente en
39	PUBLIC SAFETY BUILDING 2500 KOZLOSKI RD FREEHOLD, NJ ONE (1) DRY SPRINKLER SYSTEM ONE (1) WET SPRINKLER SYSTEM	1 INSPECT	\$380.00	\$380.00
40	HEALTH DEPARTMENT 50 E. MAIN STREET FREEHOLD, NJ	1 INSPECT		
,	ONE (1) WET SPRINKLER SYSTEM		\$380.00	\$380.00
	CONFINED SPACE PERMIT REQUIRED CONTRACTOR IS RESPONSIBLE FOR EQUIPMENT NECESSARY TO COMPLETE WORK			,

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-30-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
41	MCPO 132 JERSEYVILLE AVENUE FREEHOLD, NJ	1 INSPECT	\$380.00	\$380.00
	ONE (1) WET SPRINKLER SYSTEM			
42	CORRECTIONAL INSTITUTION 1 WATERWORKS ROAD FREEHOLD, NJ TEN (10) WET SPRINKLER SYSTEMS ONE (1) DRY SPRINKLER SYSTEM	1 INSPECT	\$4,950.00	\$4,950.00
43	ADULT SHELTER 1005 MURPHY DR. FORT MONMOUTH OCEANPORT, NJ ONE (1) WET SPRINKLER SYSTEM CONFINED SPACE PERMIT REQUIRED CONTRACTOR IS RESPONSIBLE FOR EQUIPMENT NECESSARY TO COMPLETE WORK	1 INSPECT	\$380.00	\$380.00
44	PUBLIC WORKS BUILDING G 250 CENTER STREET FREEHOLD, NJ ONE (1) WET SPRINKLER SYSTEM	1 INSPECT	\$380.00	\$380.00
PART	S AND LABOR FOR ADDITIONAL WORK IF NEEDED	The second secon		T

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-30-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

PREVAILING WAGE

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
45	PARTS: IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:			
	ESTIMATED PARTS AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$12,000.00 LESS DISCOUNT OF25%OFF (IF ANY) ()			\$12,750.00
	NET COST TO COUNTY (ESTIMATED) \$ 12,750.00 *			
	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT AS AN ALLOWANCE FOR PARTS, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT			
46	LABOR - REGULAR (8:00 AM - 4:30 PM)	60 HOUR(S)	\$135.00	\$8,100.00
47	LABOR - OVERTIME WORKING HOURS	20 HOUR(S)	\$270.00	\$5,400.00
		TOTAL	\$80,520.00	